Academic Students	Additi High Educa and I Emplo	ier ition Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
11010100 - Computer and	Informatio	n Science	s. Genera	Ī							
Graduate	2	50.0%	1	25.0%	0	0.0%	3	75.0%	1	25.0%	4
Non-returner	5	19.2%	6	23.1%	5	19.2%	16	61.5%	10	38.5%	26
Total	7	23.3%	7	23.3%	5	16.7%	19	63.3%	11	36.7%	30
13120600 - Teacher Educa	ıtion, Multip	ole Levels	;								
Graduate	3	13.0%	3	13.0%	14	60.9%	20	87.0%	3	13.0%	23
Non-returner	6	8.7%	29	42.0%	14	20.3%	49	71.0%	20	29.0%	69
Total	9	9.8%	32	34.8%	28	30.4%	69	75.0%	23	25.0%	92
23130400 - Rhetoric and C	ompositio	า									
Non-returner	3	25.0%	4	33.3%	1	8.3%	8	66.7%	4	33.3%	12
Total	3	25.0%	4	33.3%	1	8.3%	8	66.7%	4	33.3%	12
24010100 - Liberal Arts an	d Sciences	/Liberal S	Studies								
Graduate	16	28.6%	17	30.4%	15	26.8%	48	85.7%	8	14.3%	56
Completer	2	50.0%	1	25.0%	0	0.0%	3	75.0%	1	25.0%	4
Non-returner	34	16.4%	88	42.5%	36	17.4%	158	76.3%	49	23.7%	207
Total	52	19.5%	106	39.7%	51	19.1%	209	78.3%	58	21.7%	267
24999999 - Undeclared Ma	ijor										
Non-returner	66	48.2%	20	14.6%	30	21.9%	116	84.7%	21	15.3%	137
Total	66	48.2%	20	14.6%	30	21.9%	116	84.7%	21	15.3%	137
26010100 - Biology/Biolog	ical Scienc	es, Gene	ral								
Graduate	0	0.0%	0	0.0%	2	66.7%	2	66.7%	1	33.3%	3
Non-returner	12	16.2%	26	35.1%	13	17.6%	51	68.9%	23	31.1%	74
Total	12	15.6%	26	33.8%	15	19.5%	53	68.8%	24	31.2%	77
43010400 - Criminal Justic	•										
Graduate	0	0.0%	3	42.9%	2	28.6%	5	71.4%	2	28.6%	7
Non-returner	3	7.5%	20	50.0%	4	10.0%	27	67.5%	13	32.5%	40
Total	3	6.4%	23	48.9%	6	12.8%	32	68.1%	15	31.9%	47
45110100 - Sociology, Ger	neral										
Graduate	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2
Non-returner	2	6.2%	17	53.1%	3	9.4%	22	68.8%	10	31.2%	32
Total	2	5.9%	18	52.9%	3	8.8%	23	67.6%	11	32.4%	34
52010100 - Business/Com	merce, Ger										
Graduate	1	3.7%	13	48.1%	9	33.3%	23	85.2%	4	14.8%	27
Non-returner	12	11.7%	52	50.5%	20	19.4%	84	81.6%	19	18.4%	103
Total	13	10.0%	65	50.0%	29	22.3%	107	82.3%	23	17.7%	130

Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
99999999 - Undeclared Ma Undeclared	jor 2	18.2%	4	36.4%	1	9.1%	7	63.6%	4	36.4%	11
Total	2	18.2%	4	36.4%	1	9.1%	7	63.6%	4	36.4%	11

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
11010100 - Computer and	Informatio	n Science	es Genera								
Graduate	1	20.0%	,s, c enera 0	0.0%	4	80.0%	5	100.0%	0	0.0%	5
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
Total	1	16.7%	0	0.0%	4	66.7%	5	83.3%	1	16.7%	6
15040400 - Instrumentatio	n Tachnolo	ay/Tachr	nician								
Graduate	0	0.0%	13	72.2%	3	16.7%	16	88.9%	2	11.1%	18
Non-returner	1	4.0%	15	60.0%	1	4.0%	17	68.0%	8	32.0%	25
Total	1	2.3%	28	65.1%	4	9.3%	33	76.7%	10	23.3%	43
24010200 - General Studie											
Non-returner	s s 54	29.0%	39	21.0%	38	20.4%	131	70.4%	55	29.6%	186
	54 54	29.0%	39 39	21.0%	38	20.4%	131	70.4%	55 55	29.6%	186
Total	54	29.0%	39	21.0%	30	20.4%	131	70.4%	55	29.0%	100
41030100 - Chemical Tech	nology/Ted										
Graduate	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
Non-returner	0	0.0%	1	33.3%	0	0.0%	1	33.3%	2	66.7%	3
Total	1	25.0%	1	25.0%	0	0.0%	2	50.0%	2	50.0%	4
48050800 - Welding Techn	ology/Wel	der									
Graduate	1	12.5%	6	75.0%	0	0.0%	7	87.5%	1	12.5%	8
Non-returner	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
Total	1	10.0%	8	80.0%	0	0.0%	9	90.0%	1	10.0%	10
49030900 - Marine Science	e/Merchant	Marine O	Officer								
Graduate	1	10.0%	2	20.0%	3	30.0%	6	60.0%	4	40.0%	10
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
Total	1	9.1%	2	18.2%	3	27.3%	6	54.5%	5	45.5%	11
51060100 - Dental Assistir	ng/Assistar	nt									
Graduate	1	5.6%	11	61.1%	5	27.8%	17	94.4%	1	5.6%	18
Non-returner	1	7.1%	8	57.1%	0	0.0%	9	64.3%	5	35.7%	14
Total	2	6.2%	19	59.4%	5	15.6%	26	81.2%	6	18.8%	32
51080500 - Pharmacy Tecl	hnician/Ass	sistant									
Graduate	0	0.0%	5	83.3%	0	0.0%	5	83.3%	1	16.7%	6
Non-returner	1	7.7%	7	53.8%	3	23.1%	11	84.6%	2	15.4%	13
Total	1	5.3%	12	63.2%	3	15.8%	16	84.2%	3	15.8%	19
54000400 Emargane: M-	dical Task	nology/T	obnicies (EMT Da	modia)						
51090400 - Emergency Me Non-returner	aicai recn 3	7.1%	ecnnician (25	59.5%	imeaic) 3	7.1%	31	73.8%	11	26.2%	42
Total	3	7.1% 7.1%	25 25	59.5% 59.5%	3	7.1% 7.1%	31	73.8%	11	26.2% 26.2%	42 42
i Olai	3	1.170	20	J J .J70	3	1.170	31	13.070	11	ZU.Z 70	42
51100900 - Phlebotomy Te	echnician/P										
Non-returner	4	21.1%	3	15.8%	7	36.8%	14	73.7%	5	26.3%	19
Total	4	21.1%	3	15.8%	7	36.8%	14	73.7%	5	26.3%	19

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
51380100 - Registered Nursing/Registered Nurse														
Non-returner	4	2.5%	79	49.1%	14	8.7%	97	60.2%	64	39.8%	161			
Total	4	2.5%	79	49.1%	14	8.7%	97	60.2%	64	39.8%	161			
51390100 - Licensed Practical/Vocational Nurse Training														
Graduate	4	4.2%	33	34.4%	35	36.5%	72	75.0%	24	25.0%	96			
Non-returner	7	4.0%	92	53.2%	10	5.8%	109	63.0%	64	37.0%	173			
Total	11	4.1%	125	46.5%	45	16.7%	181	67.3%	88	32.7%	269			
52020700 - Customer Serv	rice Manage	ment												
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			

Tech-Prep Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
11010100 - Computer and											
Graduate	0	0.0%	1	33.3%	1	33.3%	2	66.7%	1	33.3%	3
Non-returner	0	0.0%	2	40.0%	1	20.0%	3	60.0%	2	40.0%	5
Total	0	0.0%	3	37.5%	2	25.0%	5	62.5%	3	37.5%	8
41030100 - Chemical Tech	nology/Ted	hnician									
Graduate	8	14.5%	28	50.9%	12	21.8%	48	87.3%	7	12.7%	55
Non-returner	2	3.1%	40	61.5%	2	3.1%	44	67.7%	21	32.3%	65
Total	10	8.3%	68	56.7%	14	11.7%	92	76.7%	28	23.3%	120
43010200 - Corrections											
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Non-returner	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2
Total	0	0.0%	2	66.7%	0	0.0%	2	66.7%	1	33.3%	3
51380100 - Registered Nui	rsing/Regis	tered Nu	rse								
Graduate	0	0.0%	20	58.8%	2	5.9%	22	64.7%	12	35.3%	34
Non-returner	2	7.7%	11	42.3%	1	3.8%	14	53.8%	12	46.2%	26
Total	2	3.3%	31	51.7%	3	5.0%	36	60.0%	24	40.0%	60
51390100 - Licensed Pract	tical/Vocati	onal Nurs	se Training	9							
Non-returner	1	3.4%	14	48.3%	4	13.8%	19	65.5%	10	34.5%	29
Total	1	3.4%	14	48.3%	4	13.8%	19	65.5%	10	34.5%	29
52020100 - Business Adm	inistration	and Mana	agement, (General							
Graduate	0	0.0%	6	46.2%	4	30.8%	10	76.9%	3	23.1%	13
Non-returner	0	0.0%	16	72.7%	1	4.5%	17	77.3%	5	22.7%	22
Total	0	0.0%	22	62.9%	5	14.3%	27	77.1%	8	22.9%	35

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Graduate	22	18.0%	38	31.1%	42	34.4%	102	83.6%	20	16.4%	122
Completer	2	50.0%	1	25.0%	0	0.0%	3	75.0%	1	25.0%	4
Non-returner	143	20.4%	262	37.4%	126	18.0%	531	75.9%	169	24.1%	700
Undeclared	2	18.2%	4	36.4%	1	9.1%	7	63.6%	4	36.4%	11
Total	169	20.2%	305	36.4%	169	20.2%	643	76.8%	194	23.2%	837
Total Technical Students											
Graduate	9	5.6%	70	43.2%	50	30.9%	129	79.6%	33	20.4%	162
Non-returner	75	11.7%	271	42.3%	77	12.0%	423	66.0%	218	34.0%	641
Total	84	10.5%	341	42.5%	127	15.8%	552	68.7%	251	31.3%	803
Total Tech-Prep Students											
Graduate	8	7.5%	56	52.8%	19	17.9%	83	78.3%	23	21.7%	106
Non-returner	5	3.4%	84	56.4%	9	6.0%	98	65.8%	51	34.2%	149
Total	13	5.1%	140	54.9%	28	11.0%	181	71.0%	74	29.0%	255
Total Technical/Tech-Prep	Students										
Graduate	17	6.3%	126	47.0%	69	25.7%	212	79.1%	56	20.9%	268
Non-returner	80	10.1%	355	44.9%	86	10.9%	521	65.9%	269	34.1%	790
Total	97	9.2%	481	45.5%	155	14.7%	733	69.3%	325	30.7%	1,058
Grand Total											
Graduate	39	10.0%	164	42.1%	111	28.5%	314	80.5%	76	19.5%	390
Completer	2	50.0%	1	25.0%	0	0.0%	3	75.0%	1	25.0%	4
Non-returner	223	15.0%	617	41.4%	212	14.2%	1,052	70.6%	438	29.4%	1,490
Undeclared	2	18.2%	4	36.4%	1	9.1%	7	63.6%	4	36.4%	11
Total	266	14.0%	786	41.5%	324	17.1%	1,376	72.6%	519	27.4%	1,895